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CCNA2 Chapter 6 Practice Test Answers

What is a name for routing protocols that support VLSM and CIDR?

· Interior routing protocols

· Exterior routing protocols

· Distance vector routing protocols

· Classless routing protocols

Which subnet mask would produce a subnet with up to 30 host addresses?
· 255.255.255.192
· 255.255.255.224

· 255.255.255.240

· 255.255.255.248

· 255.255.255.252

The class C networks 200.2.0.0/24, 200.2.1.0/24, 200.2.2.0/24 and 200.2.3.0/24 are summarized as 200.2.0.0/22. What name is given to 200.2.0.0/22?

· Subnet

· Supernet

· Default route

· Groupnet

192.168.1.0 is subnetted with subnet mask /28.
Which of the following is a subnet address?

· 192.168.1.38

· 192.168.1.60

· 192.168.1.100

· 192.168.1.140

· 192.168.1.176

192.168.1.0 is subnetted with subnet mask /27.

Which of the following is a broadcast address?

· 192.168.1.33

· 192.168.1.59

· 192.168.1.95
· 192.168.1.129

· 192.168.1.158
172.16.0.0/16 is subnetted with subnet mask /22.
Which of the following is a broadcast address?

· 172.16.12.255

· 172.16.21.255
· 172.16.38.255

· 172.16.47.255

· 172.16.53.255

A point-to-point link has been given the subnet 192.168.7.240/28. How many host addresses are wasted?

· 4

· 12

· 28

· 44

· 60
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Is there anything wrong with this addressing scheme?
· No. VLSM has been used and the scheme is all right.

· Yes. A router should have all the subnets with the same subnet mask.

· Yes. 192.168.1.160 is not a valid subnet address.
· Yes. There is an overlap between 192.168.1.220/30 and 192.168.1.224/30

· Yes. There is an overlap between 192.168.1.220/30 and 192.168.1.192/27

· Yes. There is an overlap between 192.168.1.160/27 and 192.168.1.192/27
How many host addresses are available on a subnet with the subnet mask 255.255.255.224?
· 2

· 6

· 14

· 30

· 62

How many host addresses are available on a subnet with the subnet mask /28?

· 2

· 6

· 14

· 30

· 62

[image: image3.png]



The routers are running RIPv1. Router B sends an update containing information about 192.168.3.224. What subnet mask will router A apply to this network?
· /16

· /23

· /24

· /25

· /27
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The routers are running RIPv1. Router B sends an update containing information about 192.168.4.0. What subnet mask will router A apply to this network?

· /16

· /23

· /24

· /25

· /27

What address could be used to summarise all the class B private addresses?

· 172.16.0.0/12

· 172.16.0.0/14

· 172.16.0.0/16

· 172.16.0.0/18

· 172.16.0.0/20

A network has 50 hosts. What subnet mask would give a subnet with as few as possible unused addresses?
· 255.255.255.0

· 255.255.255.128

· 255.255.255.192

· 255.255.255.224

· 255.255.255.240

· 255.255.255.248

Which is an advantage of CIDR?
· Allows administrators to use classful routing protocols.

· Allows routers to have smaller routing tables.

· Allows administrators to create subnets.

· Allows hosts to share public IP addresses.

What measures have been taken to allow us to continue to use IP v4 in spite of the diminishing supply of addresses? (Choose 2)
· CIDR and VLSM were introduced.
· Private addresses and NAT were introduced.

· Longer addresses were introduced.

· Exterior routing protocols were introduced.
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The diagram shows an example of:
· Use of VLSM

· Use of automatic summarisation

· Discontiguous subnets

· Overlapping networks

A summary route in a routing table is given as 180.32.0.0/13. Which range of addresses will match this summary?

· 180.32.0.0 to 180.32.255.255

· 180.32.0.0 to 180.33.255.255

· 180.32.0.0 to 180.35.255.255

· 180.32.0.0 to 180.39.255.255

· 180.32.0.0 to 180.63.255.255


Which of the following would be suitable as the missing subnet address if 20 host addresses are required?
· 192.168.3.96/27

· 192.168.3.128/27

· 192.168.3.164/27

· 192.168.3.176/27

· 192.168.3.224/27
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